HHD, Fall 2002

Social Science Assessment

Multiple choice: Choose the best answer:

1. In Erikson’s model of development, Identity vs. Identity Confusion refers to:

a. A stage of development in early childhood marked by the person’s sense of developing his or her own identity

b. A period marked by intense anxiety because the adolescent has too many choices to make about who they are

c. Adolescent development of identity in which a youth’s sense of uniqueness comes to the fore

d. None of the above

e. All of the above

Explain your answer:

2. Piaget proposed five stages of development. In terms of identity development in adolescence, most researchers believe that:

a. Formal operational cognitive development is necessary for abstract thinking

b. Abstract thinking is necessary for identity development

c. A youth must have moved past the concrete operational stage in order to enter adolescence

d. A & B

e. A & C

f.  All three are correct

Explain your answer:

3. Between the ages of 5-7 children develop an understanding of gender constancy-they realize that gender is permanent. This arises from a certain level of cognitive maturity and they begin to match their behavior to cultural expectations. In which Piagetian stage does this happen?

a. The preoperational stage because that is when children acquire gender labels and develop gender schemas

b. The formal operational stage because that is when abstract reasoning occurs and the development of constancy cannot be achieved without abstract thinking

c. The latency stage because this when children acquire cognitive skills and assimilate cultural values and gender roles

d. The concrete operational stage because that is when children develop all forms of constancy

e. Something is wrong with each of these responses, so I choose none of them

Explain your answer:

4. Speaking of Freud, his and Piaget and Erikson’s models all have developmental overlaps. Which of the following is the most accurate set of relationships?

a. Latency is to concrete operational as concrete operational is to industry vs. inferiority

b. Basic mistrust is to oral as oral is to early sensorimotor

c. Formal operational is to genital as genital is to identity vs. identity confusion

d. A & B

e. B & C

f. A, B & C

g. None of these

Explain your answer:

5. Pipher says on pg. 18 of Reviving Ophelia, “Girls in what Freud called the latency period, roughly age six or seven through puberty, are anything but latent. I think of my daughter Sara during those years-performing chemistry experiments and magic tricks, playing her violin, starring in her own plays, rescuing wild animals and biking allover town.” What is the problem with her claim?

a. Nothing is wrong with her claim

b. Claim? What claim?

c. She is conceptualizing latency from a formal operational stage of thinking

d. She has the wrong age group for latency

e. Her concept of latency is too concrete

e. I’m tired of these trick questions.

Explain your answer:

Enough of these tricky multiple choice questions, lets go to some applied questions. 

6. Piaget’s operational stage is characterized by conservation (remember Susan’s 1st lecture?) If this is true (and it is based on his theory of cognitive development) respond to the following:

At my last birthday party, I gave my five year old nephew a slice of cake but gave his ten year old brother two slices. The five year old started crying and complained that he wanted two pieces like his big brother. If I don’t want to give him another piece of cake but want him to stop crying and complaining in front of all my guests, how might I placate him? Hint: You’re likely to see this on a map of Colorado, my home state that is divided between the plains and the mountains.

7. Pipher claims that, “Mothers are either idealized like the Virgin Mary or bashed in fairy tales and modern American novels.” (p.102). What stage of Erikson’s model best explains her use of dichotomous thinking if she were sixteen when she wrote this statement? Why? Be sure to talk about what is absent in this cognitive style.

8. The following statement can be posed as a hypothesis and could serve as a potential research project. 

“Because girls mature at a faster rate than boys, they come into gender identity questions at an earlier stage than boys and are faced with the dilemma of what to choose as an identity.”

Rewrite this hypothesis using both Erikson’s and Piaget’s models of development. In other words, use their models to provide some operational definitions. For extra credit include Bem’s SRI!

Only two more questions to go!

9. Using Cross’s model of racial identity development, explain the following statements. The stages of the model are: Pre-encounter; Encounter; Immersion-emersion; Internalization

Boo-Boo: “It was kinda weird for me in Raymond. All of a sudden all my friends were black. It was weird, cuz they’re just, they’re more different than white people cuz of the fact the way they carry themselves, the way they dress and stuff, dress and talking, just being black. Like when I go down to see, y’know, say Chub and all them [in Clarendon Heights), they’re like, “Wow, Boo-Boo changed.” Then, y’know, I just, I dunno.”

Boo-Boo recounted how a friend had directed him to a store that was taking job applications: “So we walk up there, and she said, ‘We’re not hiring.’ And she said it in a bad way where it came down to me like she was prejudiced cuz I was black or something. Cuz why would she say that, why should she lie and say she wasn’t hiring?” 

Explanation:

10. Using Helm’s model of racial identity development, what response would you expect at every level of development to the following information? Stages of the model are: 

“There is a large racial gap in unemployment and earnings among high school graduates as well as dropouts. Nationwide, the unemployment rate for white sixteen to twenty-four-year-olds with a high school diploma in 1990 was 9 percent. For black high school graduates it was 26 percent. If black high school graduates without jobs feel betrayed, many with jobs also feel let down because the earn so much less than whites. In the local labor market for men in 1989, white high school dropouts between the ages of twenty and twenty-four earned $9,294 per year. White graduates made between $14, 237. Black dropouts of the same age earned only $7,748 per year. And blacks with a high school diploma made a mere $8,856-less than white dropouts. For African American men, a high school education simply does not pay off as promised.”

a. Contact: 

b. Disintegration: 

c. Reintegration:

d. Pseudo-Independence:

e. Immersion-Emersion

f. Autonomy:

